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\\\3 clc; clear; close all;
x=[1 2 1 0 3 2];
h=[1 3 2];
j>\) x n=length (x) ;

h n=length(h);

O

%% Ans A

figure;

subplot(2,2,1);

SS rep dt(0:x n-1,x,1[]);

title('x[n]"', 'Interpreter', 'latex');
subplot(2,2,2);

SS rep dt(0:h n-1,h,[]);
title('Sh[n]$', '"Interpreter', 'latex');
%% Ans B

y l=conv(x,h);

subplot (2,2,3);

SS rep dt(0:length(y 1)-1,y 1,1[])>;
title('Sy[n]l=x[n]*h[n]S$', 'Interpreter', 'latex"');
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_n+h n-1;
x zeros (1l,N-x n)]l;

N
X:
h=[h zeros(l,N-h n)];

I_II_I><

X=fft (x);

H=fft (h);
Y=X.*H;

y=1fft (Y);
subplot(2,2,4);

SS rep dt(0:length(y)-1,y,I[]1)~

title('$Sy[nl=x[n]*h[n]
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